

## ACADEMIC FEES STRUCTURE FOR GURU NANAK E.M. PUBLIC SCHOOL BHUBANESWAR FEES STRUCTURE 2025-26



## CLASSES VALVATIKA (NURSERY TO UKG)

| PARTICUL                               | ARS  | FREQUENCY      | PAYBLE                                   | AMOUNT              |
|--|--|----------------|--|---------------------|
| REGISTRATION FEES (NON-REFUNDABLE)     |  | ONE TIME       | AT THE TIME OF REGISTRATION              | 500/-               |
| ADMISSION FEES (NON-REFUNDABLE)        |  | ONE TIME       | AT THE TIME OF ADMISSION                 | 15000/- (NUR – UKG) |
| READMISSION FEES (NON-REF              | FUNDABLE)  | ONE TIME       | AT THE TIME OF RE-<br>ADMISSION          | 4000/- (LKG & UKG)  |
| DEVELOPMENT/ MISCELLANE<br>REFUNDABLE) | DEVELOPMENT/ MISCELLANEOUS FEES (NON-<br>REFUNDABLE) |                | AT THE TIME OF ADMISSION/<br>READMISSION | 3500/ - (NUR- UKG)  |
| PARTICULARS                            | FREQUENCY  | τυτ            | TOTAL PAYABLE                            |                     |
| BALVATIKA – 1 (NUR)                    | MONTHLY  | 16             | 19800/-                                  |                     |
| BALVATIKA – 2 (LKG)                    | MONTHLY  | 1650 × 12      |  | 19800/-             |
| BALVATIKA – 3 (UKG)                    | MONTHLY  | 1650 × 12      |  | 19800/-             |
|  |  | TRANSPORT FEES | 5  |                     |
| SR.NO                                  | LOCATION   | PRICE          |  |                     |
| 1                                      | BHUBANESWAR  |                | 2000                                     |                     |
| 2                                      | PIPILI- BUS  | 2000           |  |                     |
| 3                                      | PIPILI- VAN  | 1600           |  |                     |

| CLASSES STD - I TO STD – V                           |             |             |                            |                          |          |
|--|-------------|-------------|----------------------------|--------------------------|----------|
| PARTICULARS  |             | FREQUENCY   |                            | PAYBLE                   | AMOUNT   |
| REGISTRATION FEES (NON-REFUNDABLE)                   |             | ONE TIME    | AT THE TI                  | ME OF REGISTRATION       | 500/-    |
| ADMISSION FEES (NON-REFUNDABLE)                      |             | ONE TIME    | AT THE TIME OF ADMISSION   |                          | 20,000/- |
| READMISSION FEES (NON-RE                             | FUNDABLE)   | ONE TIME    | AT THE TIME OF READMISSION |                          | 4,000/-  |
| DEVELOPMENT/ MISCELLANEOUS FEES (NON-<br>REFUNDABLE) |             | ONE TIME    | AT THE TI<br>READMISS      | ME OF ADMISSION/<br>SION | 4,800    |
| PARTICULARS  | FREQUENCY   | TUTION FEES |                            | TOTAL PAYABLE            |          |
| STD – I  | MONTHLY     | 2000 × 12   |                            | 24000/-                  |          |
| STD – II   | MONTHLY     | 2000 × 12   | 240                        |                          | 00/-     |
| STD – III  | MONTHLY     | 2300 × 12   |                            | 27600/-                  |          |
| STD – IV   | MONTHLY     | 2500 × 12   |                            | 30000/-                  |          |
| STD – V  | MONTHLY     | 2500 × 12   | 2500 × 12 300              |                          | 00/-     |
| TRANSPORT FEES                                       |             |             |                            |                          |          |
| SL NO  | LOCATION    | PRICE       |                            |                          |          |
| 1  | BHUBANESWAR | 2000        |                            |                          |          |
| 2  | PIPILI- BUS | 2000        |                            |                          |          |
| 3  | PIPILI-VAN  | 1600        |                            |                          |          |

| CLASSES STD - VI TO STD – VIII                       |             |               |  |          |          |  |
|--|-------------|---------------|--|----------|----------|--|
| PARTICULARS  |             | FREQUENCY     |  | РАҮВЕ    | AMOUNT   |  |
| REGISTRATION FEES (NON-REFUNDABLE)                   |             | ONE TIME      | AT THE TIME OF REGISTRATION              |          | 500/-    |  |
| ADMISSION FEES (NON-REFUNDABLE)                      |             | ONE TIME      | AT THE TIME OF ADMISSION                 |          | 25,000/- |  |
| READMISSION FEES (NON-REFUNDABLE)                    |             | ONE TIME      | AT THE TIME OF READMISSION               |          | 4,000/-  |  |
| DEVELOPMENT/ MISCELLANEOUS FEES (NON-<br>REFUNDABLE) |             | ONE TIME      | AT THE TIME OF ADMISSION/<br>READMISSION |          | 5,800/-  |  |
| PARTICULARS  | FREQUENCY   | TUTION FEES   |  | TOTAL P  | PAYABLE  |  |
| STD – VI   | MONTHLY     | 2700 × 12     |  | 32,4     | 32,400/- |  |
| STD – VII  | MONTHLY     | 2900 × 12     |  | 34,8     | 34,800/- |  |
| STD – VIII   | MONTHLY     | 2900 × 12     |  | 34,800/- |          |  |
|  |             | TRANSPORT FEE | S  |          |          |  |
| SL NO  | LOCATION    | PRICE         |  |          |          |  |
| 1  | BHUBANESWAR | 2000          |  |          |          |  |
| 2  | PIPILI- BUS | 2000          |  |          |          |  |
| 3  | PIPILI-VAN  | 1600          |  |          |          |  |

| CLASSES STD - IX & STD – X                           |                    |               |  |                    |          |  |
|--|--------------------|---------------|--|--------------------|----------|--|
| PARTICULARS  |                    | FREQUENCY     |  | PAYBLE             | AMOUNT   |  |
| REGISTRATION FEES (NON-REFUNDABLE)                   |                    | ONE TIME      | AT THE TI                                | ME OF REGISTRATION | 500/-    |  |
| ADMISSION FEES (NON-REFU                             | NDABLE)            | ONE TIME      | AT THE TIME OF ADMISSION                 |                    | 35,000/- |  |
| ANNUAL FEES / SESSION FEE                            | S (NON-REFUNDABLE) | ONE TIME      | AT THE TI                                | ME OF READMISSION  | 4,000/-  |  |
| DEVELOPMENT/ MISCELLANEOUS FEES (NON-<br>REFUNDABLE) |                    | ONE TIME      | AT THE TIME OF ADMISSION/<br>READMISSION |                    | 6, 800   |  |
| PARTICULARS  | FREQUENCY          | TUTION FEES   | TOTAL P                                  |                    | AYABLE   |  |
| STD – IX   | MONTHLY            | 3500 × 12     |  | 42,0               | 42,000/- |  |
| STD – X  | MONTHLY            | 3500 × 12     |  | 42,000/-           |          |  |
|  |                    | TRANSPORT FEE | S  |                    |          |  |
| SL NO  | LOCATION           | PRICE         |  |                    |          |  |
| 1  | BHUBANESWAR        | 2000          |  |                    |          |  |
| 2  | PIPILI- BUS        | 2000          |  |                    |          |  |
| 3  | PIPILI-VAN         | 1600          |  |                    |          |  |

| CLASSES STD - XI & STD – XII                         |                    |             |  |                   |          |  |
|--|--------------------|-------------|--|-------------------|----------|--|
| PARTICULARS  |                    | FREQUENCY   |  | PAYBLE            | AMOUNT   |  |
| REGISTRATION FEES (NON-REFUNDABLE)                   |                    | ONE TIME    | AT THE TIME OF REGISTRATION              |                   | 1000/-   |  |
| ADMISSION FEES (NON-REFUNDABLE)                      |                    | ONE TIME    | AT THE TI                                | ME OF ADMISSION   | 40,000/- |  |
| ANNUAL FEES / SESSION FEE                            | S (NON-REFUNDABLE) | ONE TIME    | AT THE TI                                | ME OF READMISSION | 8,000/-  |  |
| DEVELOPMENT/ MISCELLANEOUS FEES (NON-<br>REFUNDABLE) |                    | ONE TIME    | AT THE TIME OF ADMISSION/<br>READMISSION |                   | 6,800    |  |
| PARTICULARS  | FREQUENCY          | TUTION FEES |  | TOTAL PAYABLE     |          |  |
| STD – XI   | MONTHLY            | 3500 × 12   |  | 42,0              | 12,000/- |  |
| STD – XII  | MONTHLY            | 3500 × 12   |  | 42,000/-          |          |  |
| TRANSPORT FEES                                       |                    |             |  |                   |          |  |
| SL NO  | LOCATION           | PRICE       |  |                   |          |  |
| 1  | BHUBANESWAR        | 2000        |  |                   |          |  |
| 2  | PIPILI- BUS        | 2000        |  |                   |          |  |
| 3  | PIPILI-VAN         | 1600        |  |                   |          |  |